Gen Chem I (CHM 202) Fall 18 Dr. Hahn MWF 10am QuizIV 10/17 W Exam #

Name / vy Name
Sign L Print (be can’t read signature)
Please show work on all questions for full credit & partial credit. (20 total pts).

1. Given the following, circle the appropriate element. (6 pts, 2 pts each)
Larger atomic radius [ ( P) or {Sb) } (circle one)
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Lower electronegativity [r (CD) ] (circle one)
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2. Give the electron conﬁ guration for the Br ion using the notation 1s?, 2s°... Starting from 182 (3
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a. Show the valence electron count for drawing a Lewi
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b. Given the following two Lewis Dot structures, which is #le correct Lewis Dot Structure Circle the

letter of the correct structure (1 pt) V7 _
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c. Give one reasons why the structure that you said is incorrect is wrong. (1 pts)
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4, For the molecule whose correct Lewis Dot stlgcgre is showq elow, answer 9 fr\llow;né aout the l
central Br atom. (6 pts total)
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Extra Credit: (a) On the Lewis Dot structure above, show individual bond dipole moment arrows. (b) Draw
the vecton sum d}poie moment arrow. (¢) Is the molecule as a whole([(polar)/or (nonpolar)] (circle one)(3pt)




